[R5 Rhk]

3

[(EHRRER]

THSEBERE EZABRFORSE (RAB) FEOHME

MmaxE 12A
A B B OB

% db

1 SHMIFEICETIEABRDRESEHEDOHE
(BEFR) THMIFEICETHIEAREORESHE
2 THMIEBEEICETIRRIGHFORGEEOME

(BEHK) ANIBBEEICBTLIRRMEHEORTER



(K

$

hix]

FTHSFEICETHEABORESEHEDOHE

& HEMBEHEOKLEITBE1 OERTRE

SHMI3EEICHITHEABOBERHIL2KE5, 71 24T, TOHER
FEEOHREEE 2, 02 1{EM. FEHEDHEEE 4 0 8fEM LG Y. FIFE
[CEHAR, ZNFN392{EM (24. 1%), 83{EM (25. 5%) #m
LTWET,

GE)1 SHSEAR1ANLSH4ESASTIRETCITR TLI-EEERIZRIBEITOVT. §F4E7AS1BETITHENH 22D
SHMAESARBETRYELHTLET,
2 SHBESASIHETITKRTLEZEEEICRIBEDSL. KEZICKDPHEDOHRERICKY. AEEOEH T RYE P (F
M3FESHA1AMNSHMAETASI1BET) ICHELHEDEEFATLETS,

EABOBREHHFDOIKR

FESE T2 3
IEH HH#E HH8FE R BTEXTEE
" ‘ # # # %
i = i & 25,425 25,712 287 101.1
A == B &H[ &M #[ %
S 1,629 2,021 392 124.1
“® " &M &M &M %
i = o H 325 408 83 1255
HEMSTEOHR
(M) )
e BEFRBEE mwmaERE ——BLER
3,500 26,000
25,712
y
- 25,500
3,000 25,145
24,880
2V/ - 25,000
2,500 24217 24,30 - 24,500
- 24,000
2,000 -
- 23,500

1,500

1,552

1,605

1,588

1,000 -

23,000

F 22,500

500 -

22,000

H24 H25 H26

H27 H28

H29 H30

21,500

f 21,000

R3



[R5 Rhk]

(BEHER) SHMIFEEIZBTAEAFREDRESLE
AMFE1  EABDKRKR
X5 SM3%E6H 30 HIRAE SM456H 30 HIRAE
EHHE H BIEXTEE H BIEXTEE
. . EA % A %
A A 2 27,205 101.5 27,524 101.2
GE)EEHREAIZONTIE, EHHEALBRALTOET,
AE2  EABOBEEDRR
FEZE SF2 SH3
I5E &% BT XTEL HH% BT
. # % # %
H
moO& o H|a 25,425 101.1 25712 101.1
N % Ak % RAk
mo& 8 &2 915 0.2 91.9 0.4
. # % # %
E =
FRE M B 8,518 103.4 8,801 103.3
% RAVb % RAVE
B = & Fm oA
FTREH G4 335 0.7 34.2 0.7
_ &M % &M %
H PA=] [t
MEHMREE®E| S 1,629 95.2 2,021 124.1
ExHE1H4 FH % FH %
LY eesE|° 19,120 92.0 22,968 120.1
M % M %
H = o
mERRAER| 792 1419 733 926
& FBH &1 4 FH % FH %
Ly rELEE| 4,682 141.9 4,336 92.6
AR 3  EATDHREEDINR
FEZE &2 3
EHHE & % BIEXTEE & % BIEXTEE
&M % EM %
" . N
& = e R 325 97.3 408 1255
AT 4 HAEATROIRED KR
FESE £SH2 £#3
I5H & % BT 4 %1 EE & % BI4E % EE
&M % EM %
H 1Y =
& = B @ 29 180.0 44 151.7




(K

hix]

$

2 FHSEBFEICETIRRTBHFORBHEMOME

¢ HRABBEOBRBIIMEHEEICEAI 7 EAOEM

TH3EBEREICE T AR RIMGHFOHEAZL6 8 4EAT., FIFEHEE

[ZEER 3 7{EM (5. 7%) #EmMLELE,

FHRABICOVNTHD E, BEMESOFEEIT 1 0EM (1. 9%) #EmL.
FRLUFREDFZEX2 5EM (4 1.

GE)1

LTWET,

2 TH25F1A1BUBRET SMFICRITEI L. BEEAIAERATENTOHET,

0%) EMLTLET,

HHIE7TA1HALFHA4E6AS0RFETITIRHDH =B H EEORBRURBERNT oL MBERICROIBEEES

O RRITEHRFOREDINR
EHREESE 2 3
BB o % ST # BTERLE
_ o B et et %
e = 2 = 534 544 10 101.9
;B H& Pt = 18 12 A6 66.7
F F B F = 4 3 A1l 75.0
il = [ = 61 86 25 141.0
=] P =] =
f)m E';JE VE% Eﬁé:i’ﬁgitg 11 19 8 172.7
wmE e F %= 18 18 0 100.0
¥ B F F % = 1 1 0 100.0
=) it 647 684 37 105.7
N = /B I s oy
O if%ﬁﬁ%wmﬁwﬁ@ 68 4 &M
1,000 (3 7 {&EM#EM)
800
684
651 647
e 597 596 609 639 632
600 £16 S acs
400
200
0
H24 H25 H26 H27 H28 H29 H30 RIT R2 R3
EHREE

3




[R5 Rhk]
(BEHR) SHIEBEEIZET3RRFEBHEDENERE

Al 1 RREBNEFRERDOIKR
X5 | £#M3%FE6H 30 BB#H 4468 30 HERE

I5E EXEH BIEXTEE BIEEH BTERT L
5 Lia % # %
* E A Al 19,877 101.1 20,339 102.3
52 & pr ANl 2 188 105.0 187 99.5
5
B N FF| 3 234 97.9 235 100.4
o & ANl a 6,910 95.8 7,033 101.8
z D fth| s 1,485 100.5 1,505 101.3
B B 6 28,694 99.8 29,299 102.1
) F i 5 = 705 98.1 674 95.6
fid = i % s 1,031 102.5 1,051 101.9
BREOERNRELESEHAE
o ®m ow Fom = 25 92.6 23 92.0
w M OB £ F BT ]| 10 23,183 98.9 23,225 100.2
E B £ &F F B & 1 60 87.0 56 93.3
A2  RREHRFOHREEDIKNR
&8 X7 42 A3
i % Rl 5 %1 LE i %8 BTERTEE
_ &M % EM %
= 5‘ 5 1
: P 7 534 99.6 544 101.9
B i3 i B 2 18 122.1 12 66.7
F F AT = | 3 4 98.0 3 75.0
TS =1 i 5| a4 61 116.9 86 141.0
BREOERARELSEHASF
o @ 3E B @ =5 11 179.1 19 172.7
W B O® € F FF & e 18 97.8 18 100.0
E B T F F B B 7 1 117.2 1 100.0
=1 B 8 647 102.3 684 105.7




